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. ﬁiifrsk mEC NmEC
= 36°C 42°C 36°C  42°C
=651 B 1 1 1 1 1
=42 B 1 1 1 1 1
=453 B 1 1 1 1 1
=414 L& 1 1 1 1 1
=415 BE 1 1 1 1 1
=516 BE 4 4 4 4 4
tEE 1 1 1 1 1
=417 B 2 2 2 2 2
=458 B 3 3 3 3 3
=419 BE 1 1 1 1 1
=210 BE 1 1 1 1 1
=411 BE 1 1 1 1 1
=24112  BE 1 1 1 1 1
=613 BE 3 3 3 3 3
tEE 1 1 1 1 1
B 1 1 1 1 1
=614 EBH 1 1 1 1 1
B 1 1 1 1 1
=415  BE 1 1 1 1 1
eEE 1 1 1 1 1
=4l16  BE 1 1 1 1 1
B 1 1 1 1 1
26117 BE 1 1 1 1 1
=618 BE 1 1 1 1 1
=419 BE 6 6 6 6 6
B+ (EBERREE) 2 2 2 2 2
Eyik7) (0] 5 5 5 5 5
YL 1 1 1 1 1
&5t 46 46 46 46 46
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